\v/

Nt

e

-

2\

SCHROFF
Benutzeranleitung

Instructions utilisateur

inpac

User Manual

inpac

inpac

Coffret encastrable 19”

19” Chassis Case

19”-Einschubgehause

00Z 76 2 28 0£(0)61+ :Xejolol e 0-¥6 L 28 0L(0)61+ :UOJOIBL o IPIBYUSANENS $EES/-A o 001 - 96 @9elS Jogjeusbuen
0¢/80 WOO"JOIYIS/JUSAU MMM Hqwo poayss

1/3

60828 - 017 Rev.004



—\ /
nvent

SCHROFF

M4 x 8
Torx 20

60828 - 017 Rev.003

2/3




\v/

nvent

SCHROFF
Zubehor Accessoris Accessoires
19”-Griff / 19”-handle / Poignée 19 -
0.2+01
\ %m T
o o
Ye) -
? % By v @ & ¥
- ZIIS
l M5 x 10 /
g ~2.6
1 (2x) 2 (4x)
(3)

19”-Frontplatte / 19”-front panel / Face avant 19”
3

1(1)

>

2(2) 3(2) 44 5()
M3 x 5 M4 x 8

(@
@

60828 - 017 Rev.003 3/3



	Seite 1
	Seite 2
	Seite 3

